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Question 4

Given: f(x) = ﬁ-?:- 1 and g(x)= x?- 4x

(a) Write down the equations of the asymptotes of f.

(2)
= i — N S A = — | ‘/ { = \)
(b) Determine the x and y intercepts of f . \J/ a (3)
VS . 3 N/ S
- ‘:5 /
I = e \/m Mo Meed Kov
X-Z2=5 /(,Mvu\-{’x/(é//, l/'/ 3)

(c) Write down the coordinates of the turning point of g . (3)

Ao 5 x=—b  _dubh>X=2 ik 4(x)
u ="y

(dy Deteciminentios and yinterseptse g
Xoad 0= o*-Ax Y
O = ::c(x—,q} (o O)
X=0 _ov oC=4 vV

X oy (o O)/ C*b@
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(e) Draw neat sketch graphs of / and g on the same system of axes on the set of axes.

.9

Clearly indicate asymptotes, turning points and intercepts with the axes, as well as least

2 additional points on each arm of f(x). (7)
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(f) What transformation must g undergo to have no real roots? (2)

4 00) = XT-Ax
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